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Unit 4 Diagnostic Quiz: Parent-Child Relationships

Name: ______________________________________________________________________

Date: _______________________________________________________________________
Multiple Choice

For each of the following questions, circle the letter of the most appropriate answer. 

If you are uncertain about the answer, speculate about what you think it might be.

  1.
Which of the following statements is true of the history of family life?

a) prior to the twentieth century, family groupings were most often large and extended

b) the nuclear family is a new and unique form of family

c) in the middle ages, people had children for reasons that depended on a family’s social class

d) romantic love is an invention of the twentieth century

  2.
What was the most common form of family in Canada, based on the 1996 Census?

a) common-law couples with children

b) lone-parent families

c) married couples with children

d) married couples without children

  3.
Which of the following statements is not true as it relates to the treatment of children in a historical perspective?

a) upper-class children were breastfed by a hired woman 

b) children were considered the property of their father

c) in most societies, upper-class children were permitted to marry children from lower classes

d) infants were wrapped tightly in cloth for extended periods of time

  4.
During the 1600s and 1700s in Québec, what was marriage usually based on? 

a) romantic love

b) the size of the groom’s dowry

c) the woman’s potential to bear children

d) the size of the groom’s farm

  5.
Which of the following societies did not commonly practise female infanticide?

a) the Toda family 

b) the classical Chinese family

c) the Canadian family during the late 1800s 

d) all societies have participated in this practice
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  6.
Which of the following provinces/territories currently has the highest rate of infant mortality?

a) Ontario

b) Newfoundland

c) Alberta

d) Northwest Territories

  7.
Birth rates in Canada have 

a) increased since the 1960s

b) increased for those in their twenties but decreased for those in their thirties 

c) decreased for those in their twenties but increased for those in their thirties

d) remained constant over the past thirty years

  8.
Which of the following statements is not true as it relates to teenaged births?

a) the birth rate for teenagers is lower now than it was in the 1970s

b) almost as many teenagers have abortions as live births

c) the percentage of unmarried women under the age of 20 giving birth is higher now than in 1961

d) the percentage of unmarried women giving birth in 1991 was highest in Québec

  9.
Adoption is

a) more common now than in 1980

b) more often done through the Children’s Aid Society now than in the past

c) on the decline in Canada because more women are having abortions

d) on the decline in Canada because more women are raising their children on their own

10.
The type of software most often used to create graphs and charts is called 

a) word processor

b) spreadsheet

c) multimedia presentation software

d) all of the above

Short Answer 

Fill in the following answers. If you do not know the answer, speculate about what you think it might be.

11.
The cost to raise a child to the age of 18 is approximately  $___________________. Rank the following expenses in order from most to least. 

a) shelter
ranking #  _________

b) clothing
ranking # _________

c) health care
ranking # _________

d) child care
ranking # _________  
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12.
List the three basic styles of parenting.

· ________________________________________________________________

· ________________________________________________________________

· ________________________________________________________________

13.
What is meant by the phrase “the best interest of the child,” and when is it used most often? 

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

14.
Identify two positive and two negative effects of employed parents on children’s development.  

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

15.
Most families do not use public day-care centres to tend for their children. Who most often provides care for children whose parents are working? Why are parents less likely to use public day care?

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________
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